Consider the following system whose state space representation is as follows:


         x'1(t)          11     10        x1(t)             0

                    =                                     +                u(t)

         x'2(t)          -21   -18       x2(t)             1


                                    x1(t)

          y(t) = [ 2   2]                + u(t)

                                    x2(t)    

a) Solve the system for x(t) and y(t)  for t ≥ 0 given u(t)= e-3t and x(0)=[ 1   2]T
b) Using MATLAB ,Plot x(t), y(t) for t ≥ 0  given  u(t)= e-3t and x(0)=[ 1   2]T
